
AERO.201325962:~>	warp	-r	test.wrp	-i	data.01	-op	post.01	-pt	gnuplo
t	-py	0.0

AERO.201325962:~>	gnuplot

plot	'post.01'	using	1:7

plot	'post.01'	using	1:7,	'post.02'	using	1:7	

AERO.201325962:~>	warp	-r	test.wrp	-i	data.01	-opg	post.01	-pt	gnupl
ot	

AERO.201325962:~>	gnuplot

reset

set	view	map;	set	key	outside;	unset	key;	set	size	ratio	0.8;	set	xl
abel	'x,	m';	set	ylabel	'y,	m'

splot	'post.01'	using	1:2:2	with	lines

AERO.201325962:~>	warp	-r	test.wrp	-i	data.01	-op	post.01	-pt	gnuplo
t	

AERO.201325962:~>	gnuplot

y = 0

x



reset

set	view	map;	set	key	outside;	unset	key;	set	size	ratio	0.8;	set	xl
abel	'x,	m';	set	ylabel	'y,	m'

splot	'post.01'	using	1:2:7	with	l	lc	palette

AERO.201325962:~>	warp	-r	test.wrp	-i	data.01	-op	post.01	-pt	gnuplo
t	

AERO.201325962:~>	gnuplot

reset

set	key	outside;	unset	key;	set	size	ratio	0.8;	set	xlabel	'x,	m';	s
et	ylabel	'y,	m';	set	macros;	with_vectors	=	"using	1:2:($3*scale):(
$4*scale)	w	vectors";	scale	=	0.00005

plot	'post.01'	@with_vectors

AERO.201325962:~>	warp	-r	test.wrp	-i	data.01	-op	post.01	-pt	gnuplo
t	

AERO.201325962:~>	gnuplot

reset	

unset	key;	unset	surf;	set	view	map;	set	contour	base;	set	size	rati
o	0.8;	set	xlabel	'x,	m';	set	ylabel	'y,	m';	set	palette	rgbformulae
22,13,10;	set	cntrparam	levels	100

splot	'post.01'	using	1:2:7	with	l	lc	palette	lw	1.5



AERO.201325962:~>	warp	-r	test.wrp	-i	data.01	-op	post.01	-pt	gnuplo
t	

AERO.201325962:~>	gnuplot

reset

set	pm3d;	unset	surface;	set	view	map;	set	key	outside;	unset	key;	s
et	xlabel	'x,	m';	set	ylabel	'y,	m';	set	size	ratio	0.8;	set	palette
rgbformulae	22,13,10;	set	cntrparam	linear;	set	pm3d	interpolate	4,4

splot	'post.01'	using	1:2:7	

set	palette	rgb	7,5,15

set	palette	rgbformulae	22,13,10

set	palette	rgb	21,22,23;

set	palette	rgb	23,28,3

set	pal	gray

set	palette	model	HSV;	set	palette	rgb	3,2,2;

π


